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1. Thebasein the term51o is
(i) -10 (ii) -5 (iii) 5 (iv) 10 (v) 3

2. Theexponentin the term 36 is

(i) -3 (i) 3 (ii) 6 (iv) -6 (v) 4

3. Thepowerin the term 38 is

(i) -3 (ii) 3 (iii) 6 (iv) 8 (v) -8
4. Thebasein the term74 is

(i) -4 (i) 4 (i) -7 (iv) %

2

9
5. Theexponentin the term ( 3 ) is

(i) 2 (i) 0 (iii) -2 (iv) (_9) (v) 2
7 7

4

)is

NI U

6. Thepowerin the term (

(i) 1 (i) (i) (iii) 4 (iv) > (v) -4
2 2 )

7. Simplify the expression 38 X 38 ><38

) 322 i) 321 (i) 324 (iv) 323 (v) 624
8. Simplify the expression(-5)8 X (-5)8 X (-5)8

() (D24 Gi) 5123 (i) -5)%2% (iv) (-5)%° (v) (-2)%%
9. Simplify the expression 83 X82 X82

Gy 57 (i) 88 i) 8° (iv) 87 (v) 117

10. Simplify the expression(-S)7 X (-5)5

M 5 ) 52 iy (D2 v 5B W) (212



11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Simplify the expression 36 X 76 X 26

() 42° (i) 42° iy 427 (iv) 45° (v) 40°

Simplify the expression (-9)2 X (-2)2 X (—9)2

(i) -162 (i) (-165)2 (iii) (-162)2

Expand the following base power23

(i) O (ii) 16 (iii) 125 (iv) 4 (v) 8

Expand the following base power(-4)5

(i) -1024 (ii) -1 (iii) 256 (iv) 4096 (v) -7776

Find the exponential notation of
2X2X2X2

G 22 i) 2% i) D (v) 5% (v) 23

Find the exponential notation of
-4 X-4 X-4

3 v 23 ) 4

M) 42 ) D3 i) (-4)
Find the exponential notation of
-10 x-10 x-10 x-10

M) D% () (102 (i) (100% (v) 1003 (v) (-12)*

Find the exponential notation of
17 x17 x17 x17 x17 x17

Gy 177 i) 15% i 17° Gv) 17° (v) 19°
Find the exponential notation of
4 4 4 4 4

— X=X = X=X -
3 3 3 3 3

6 5 5 4
4 4
M (3) a (3) G (5) v 2> (v) (3)
Find the exponential notation of
13 13 13 13 13 13 13
X X X X X X
11 11 11 11 11 11 11
7 6 8 7

Q) 1 (i) (ﬁ) (iii) (ﬁ) (iv) (ﬁ) (v) (ﬁ)

(iv) (-162)3 (v) (-160)2



Find the exponential notation of
21. -3 -3 -3 -3 -3 -3 -3
—) % X(—) X X

Find the exponential notation of

22. -19 -19 -19
) X ()%
11 11 11

23, -110=
(i) 1 (i) ® (iii) 0 (iv) undefined (v) -1

24, -1°=
(i) undefined (i) 1 (i) 0 (iv) -1 (v) o

25. 60=
(i) ® (i) 0 (iii) 1 (iv) -1 (v) undefined

26. 00=
(i) -1 (i) 0 (i) undefined (iv) o (v) 1

27. 30=
(i) 1 (i) undefined (iii) -1 (iv) 0 (v) o

28. 03=
(i) undefined (i) 1 (iii) -1 (iv) © (v) 0



Assignment Key

1) (iii) 2) (iii) 3) (iv) 4) (iv) 5) (v) 6) (iii)
7) (iii) 8) (iii) 9) (iv) 10) (ii) 11) (i) 12) (iii)
13) (v) 14) (i) 15) (ii) 16) (iii) 17) (iii) 18) (iii)
19) (iii) 20) (v) 21) (v) 22) (v) 23) (i) 24) (iv)
25) (iii) 26) (iii) 27) (i) 28) (v)
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